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JNE] A HeEEE EESIEE ARy ki N HE)
JLiR HaEL 5 (] A O HEE| HVAE] SR EE ds A Esl SR (F) [ (&)
X 44, 712|108, 917] 53, 430] 55, 487 38 -31 -6 57 63  —25]  418] 443 of 122 122
Hil—TH 660[ 1,440 695 745 -6|  -10 -2 1 3 -8 1 9 0 2 2
AL =T H 5331 1,333 662 671 4 9 2 2 0 5 5 0 2 2 0
FLL=TH 445[ 1,036 508 528 0 -1 -2 0 2 4 9 5 -3 0 3
JLl&EFl 1,638 3,809 1,865| 1,944 -2 -2 -2 3 5 1 15 14 -1 4 5
gon—-TH 480[ 1,042 483 559 0 0 -2 3 5 3 1
R _TH 7431 1,909 928 981 2 2 0 ~4 3 7 7 0
S —=1H 5031 1,250 623 627 -5 -7 -1 0 1 -3 2 5 -3 0 3
g RN T H 373 938 463 475 0 1 1 0 6 6 0 0 0
Sk H 538l 1,258 612 646 1 0 0 1 2 1 1 1 0
sk 81 H 231 534 251 283 1 3 1 0 0 0 1 1 0
skt H 627 1,656 822 834 1 1 -1 0 1 3 4 1 -1 0 1
s\ T H 386 914 459 455 0 -2 0 0 0 1 2 1 -3 0 3
ST H 584f 1,462 721 741 -2 -5 -1 1 2 -1 2 3 -3 1 4
M aaEt| 4,465 10,963|  5,362| 5,601 1 -3 1 7 6 -5 24 29 1 13 12
Heker w1 H 312 825 422 403 0 1 0 0 0 1 3 2 0 0 0
Heke A _ T H 900[| 2,049 1,014] 1,035 -1 -3 1 1 0 -2 3 5 -2 0 2
Hkr w1 H 656 1,505 733 772 3 0 1 1 1 3 2 2 2 0
ok oaetl 1,868 4,379 2,169| 2,210 1 1 2 1 0 9 9 0 2 2
Mk a1 H 562 1,283 631 652 2 4 -1 0 1 1 1 0 4 4 0
Mk _ 1T H 350 840 445 395 4 1 1 1 4 3 3 3 0
Mk A =1H 248 559 283 276 -1 1 0 0 0 2 2 1 1 0
Mk AT H 5011 1,253 639 614 0 —4 -2 1 3 0 1 1 -2 0 2
maEraasrl 1,661 3,935 1,998| 1,937 5 5 -3 2 5 2 8 6 6 8 2
JEL gl 334 979 436 543 0 0 -3 0 3 2 3 1 1 0
HOEN— T H 153 393 189 204 -1 0 0 0 1 1 0 0
HOER) T H 415 1,006 491 515 0 1 2 0 -1 2 3 1 1
HOEEI T H 641 1,648 801 847 -5 —4 1 0 -3 2 5 -2 0 2
HOEESOPY T H 680 1,723 841 882 -4|  -13 -1 0 i -11 1 12 -1 6 7
HoEE I ] H 382 943 468 475 2 0 -2 0 2 -1 2 3 3 3 0
HOEEO N T H 395 976 478 498 -2 —4 -1 0 1 0 1 -3 0 3
HE LT H 630 1,468 702 766 3 0 -3 0 3 3 5 2 0 1 1
HOEEIAEH 3,296 8, 157] 3,970| 4, 187 -7l =20 —4 3 N -13 14 27 -3 11 14
PasE )| 1,445 3,080 1,447| 1,633 4 0 -2 0 2 3 6 -1 0 1
FHIAR 327 727 365 362 -2 -9 -1 0 1 -5 0 -3 0 3
EEP AR —T 454 1,007 498 509 -2 -9 0 0 0 -5 5 10 —4 1 5
EEA R T 208 473 248 225 1 4 -1 0 1 5 5 0 0 0 0
EEA R =T H 473l 1,163 579 584 -3 -8 0 0 0 -5 0 5 -3 1 4
EE A YT H 529 1,167 566 601 1 1 1 0 -2 5 7 2 2 0
EEFI R T H 206 539 268 271 1 0 -1 0 1 0 0 0 1 1 0
EED RS EE| 1,870 4,349 2,159| 2,190 -2  -12 -1 1 2 -7 15 22 —4 5 9
EEF AT — T F 648(| 1,405 666 739 5 11 0 1 1 3 7 4 8 14 6
EIHIARRT T | 603l 1,317 614 703 -3 -5 0 0 0 -2 5 -3 0 3
WEEROARTA S 1,250 2,722 1,280 1,442 2 6 0 1 1 1 10 9 5 14 9
HIR 305 888 489 399 0 -1 0 0 0 -2 4 1 1 0
HHR—TH 627|| 1,548 783 765 -3 -5 1 1 0 -5 8 -1 0 1
AR T HA| 1,496 3,708 1,834| 1,874 0 -9 2 4 2 2 17 15| -13 0 13
WHIR=TH 810l 2,246 1,105 1,141 0 -2 -1 0 1 1 2 -2 0 2
HHRIUT H 447 1,115 535 580 2 3 0 0 0 2 1 1 1 0
HAREAE] 3,380 8,617 4,257 4,360 -1 -13 2 5 3 0 26 26|l 15 1 16
IR —TH 585\ 1,442 715 727 2 1 1 0 6 16 10 -5 0 5
ALHR_TH 799 2,104| 1,042 1,062 1 -1 0 1 1 6 1 1 0
LR =TH 422 960 505 455 5 0 0 0 4 1 1 0
bR EEH 1,806 4,506 2,262| 2,244 15 8 0 1 1 11 28 17 -3 2 5
T RETHT 317 832 393 439 3 1 1 0 2 2 0 0 0 0
wie| 1,562 5,033 2,322 2 711 6 -1 2 3 3 12 9 4 5 1
M E -1 H 733 1,845 914 931 5 13 0 0 0 4 5 9 9 0
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HAlE T H 697 1,867 958 909 -1 -6 0 3 3 -7 0 7 1 1 0
HAE =T H 581|[ 1,482 735 747 -1 -3 0 0 0 -2 0 2 -1 0 1
FAEMN T B 882l 2,267 1,121| 1,146 5 1 1 0 5 9 4 3 4 1
ERIGENNE 563| 1,392 682 710 0 2 2 0 -7 2 9 8 10 2
FREST H 406 1,064 512 552 -1 1 1 0 -2 1 3 4 4 0
MY E S 3,86201 9,917 4,922 4,995 7 19 4 7 3 -9 17 26 24 28 4
VEPIe R 504 1,174 577 597 0 5 1 1 0 2 4 2 2 3 1
g — T H 312 684 338 346 1 7 1 2 1 5 5 0 1 1 0
i — T H 585| 1,365 667 698 3 -3 -2 0 2 1 10 -2 2 4
A ASENN 897 2,049 1,005| 1,044 4 4 -1 2 3 6 15 -1 3 4
BT H 269 643 327 316 -6 -3 2 2 0 -5 88 93 0 0 0
2 _ T H 598| 1,313 653 660 2 —4 -1 0 1 1 3 2 ~4 0 4
=T H 383 988 499 489 1 0 0 0 1 3 2 0 0 0
BhaEr 1,250 2,944| 1,479| 1,465 -3 —6 1 2 1 -3 94 97 —4 0 4
e -1 H 391 1,064 517 547 -1 0 0 0 0 1 3 2 -1 0 1
WHlE __TH 428 1,129 556 573 -1 -2 2 2 0 ~4 0 4 0 0 0
wYE —TH 7551 1,945 977 968 5 -1 1 2 2 5 3 4 4 0
HHEMLT H 441f 1,060 508 552 0 -3 -1 0 1 -2 0 2 0 1 1
HWYE T H 744 1,713 842 871 -1 -7 -1 1 2 -6 2 8 0 0 0
WHENTH 214 486 246 240 2 3 0 0 0 1 1 0 2 2 0
HEAaE] 2,973 7,397| 3,646 3,751 3 —4 -1 4 5 -8 11 19 5 7 2
<HBXEL—TH 607|| 1,465 709 756 —4 -7 -2 0 2 -2 5 7 -3 0 3
<HEIL—TH 686[ 1,587 780 807 3 2 -1 0 1 3 11 8 0 2 2
<HBEL=TH 4971 1,183 596 587 -1 —4 0 0 0 —4 2 6 0 0 0
BN T H 4831 1,093 542 551 4 0 0 0 3 5 2 1 1 0
SHELH T H 398 851 481 370 8 1 1 0 5 6 1 2 2 0
<HEWLEEH] 2,671 6,179] 3,108 3,071 3 -2 1 3 5 29 24 0 5 5
WIEAR — T H 7431 1,695 833 862 1 -1 1 2 2 6 4 0 0 0
HIEARRT T H 424 1,111 556 555 -1 -2 0 0 0 -2 3 5 0 0 0
WIEAR SR 1,167 2,806 1,389 1,417 1 -1 -1 1 2 0 9 0 0 0
s 425 848 418 430 -6|  -15 1 1 0 -7 11 -9 1 10
kw1 H 8s1fl 1,481 672 809 1 —4 1 1 0 1 19 18 -6 1 7
kAT H 354 622 292 330 -1 -3 0 0 0 ~4 4 8 1 1 0
ok A= 1T H 586| 1,632 762 870 1 3 2 3 1 1 2 1 0 1 1
ek AT H 336 741 355 386 -2 -2 0 0 0 -2 7 9 0 1 1
gk A Ek 2,157 4,476] 2,081 2,395 -1 —6 3 4 1 ~4 32 36 -5 4 9
FRIREET 23 63 33 30 0 0 0 0 0 0 0 0 0 0 0
iy 738l 1,853 889 964 3 3 0 2 2 5 9 4 -2 1 3
JGREA ] 255 654 311 343 3 4 0 0 0 1 4 3 3 3 0
e — T H 368 1,001 515 486 2 3 1 2 1 2 5 3 0 0 0
a1 H 299 733 369 364 -1 0 0 0 0 0 2 2 0 0 0
e G 667 1,734 884 850 1 3 1 2 1 2 7 5 0 0 0
Va1 H 625 1,395 696 699 -3 -7 1 1 0 -8 2 10 0 0 0
VEfEEEE] T H 481 1,226 589 637 1 -2 -2 0 2 0 2 2 0 0 0
vafeE A e 1,106 2,621 1,285 1,336 -2 -9 -1 1 2 -8 4 12 0 0 0
P 271 656 326 330 1 1 1 0 0 3 -1 0 1
IR 221 570 303 267 0 0 0 0 2 0 0 0




